2011 A

3 0 8
(20 ) A= 3 a 6 a=(-2,1, 1)T A A
-2 b -5
A T
a,b A
A A A Jordan
0 ) V, = L(al’ az)’vz = L(ﬂl’ ﬂz) R*

0, =1010)", a,=(-1001"; A=1LL01D", B =(4141".

2x4 A A AX =0 X = (X, Xy, X5, X))
R* yeV, reV, y
20 )
(X, X, X3) = a(X} + X2+ X2) + 2D(X, X, + X, X5 + X, X5)
X =CY 3yZ +3y;, a,b C.
20 )
a X, +a,X, +---+a,x, =0
M Ay X F X, +-+a,, X, =0
a'sl)(1—+_a‘52x2 +”'—I—a‘snxn =
n ﬂ:(bl’bz""’bn)Tio ai:(ail’aiZ’“"ain)T (i:]-: 2,---,5)
B B Ay Uy ooy O

b,x, +b,X, +---+b,x, =0 y/j a, 0, a




A+ap’ n-1
A+ap’ BTA a1
20 ) A P n % A At 20 A =0
k>2
AV
A r k<r+1
10
k=n AV 1
1 0
20 ) a,0,a, n n
T T T
o a 0 a, o, a,
T T T
A=| % B % & a, a,
an 0!1 an az an an
A
A X
f(Xl7 X2"“’ Xn): XT 0‘ X :(Xli XZ’ ’Xn)T
n S A=S?
(15 ) f(x n
al,az,...,an
f(a;))=-1 1=12---,n
f(x)




